# SUBCOMMITTEE REPORT

SUBCOMMITTEE NAME: Literature 5/19/20

We are turning in\_\$ 630.00 We are asking for\_\$ 630.00

Also, we are asking for \$ 105 dollar for schedule book . NOT APPROVED

H&I is requesting \$ 105 in literature for the month.

Also, the price of schedule book is .35 as of this month started this month

PLEASE REMENBER TO PLACE AN ORDER JUST TEXT ME @216-258-1928 AND I WILL CALL YOU BACK WITH THE PRICE OF YOUR ORDER

Submitted by: Literature Subcommittee

Thurman B chair and reacy S vice chair Date 5/19/2019

	LAKE ERIE GENERAL SEI	RVICE (LEGS)						
	LITERATURE INVENTOR	Υ						
	DATE: feb/mar							
								Cash
		Beginning	NAWS	Monthly	Ending	Unit	Cash	Amount
	<b>Informational Pampl</b>	balance	order	sales	balance	Price		Sold
1	Who, What, How & Wh	50	50	11	89	0.27	24.03	2.97
2	The Group	100		10	90	0.36	32.4	3.6
5	Another Look	63		5	58	0.27	15.66	1.35
6	Recovery & Relapse	28	50	5	73	0.27	19.71	1.3!
7	Am I An Addict?	0	60		60	0.27	16.2	(
8	Just For Today	31	60	15	76	0.27	20.52	4.0
9	Living The Program	150		5	145	0.27	39.15	1.3
-	Sponsorship	150		20	130	0.27	35.1	5.4
12	Triangle of Self-Obsessi	133		13	120	0.27	32.4	3.53
	BY YOUNG ADDICT	363		10	353	0.36	127.08	3.6
	One Addict's Experienc	-		11	68	0.27	18.36	+
-	PI And The NA Member	-		5	23	0.27	6.21	1.3
16	For the Newcomer	5	60		60	0.27	16.2	1.3!
	For Those In Treatment	48		10	38	0.36	13.68	-
19	Self-Acceptance	4	50	4	50	0.27	13.5	+
	H & I and the NA Mem	137			137	0.27	+	+
_	The Loner - Staying Cle				34	0.36	12.24	(
	Welcome to Narcotics				100	0.27	27	(
	Staying Clean on the O			15	45	0.27	12.15	4.0!
	Hey! What's the Basket			5	53	0.61	32.33	3.0!
	Money Matters	25			25	0.61	15.25	+
	Self-Support	19			19	0.61	+	(
	Accessibility	100			100	0.27	27	(
	Parents/Guardians you			10		<del>+</del>		
	Funding NA Services	53	-		53	+		+
	An Intro to NA Meeting		-		64	-		+
							0	+
	Booklets/Handbooks				0		0	
	PR Handbook	11			11	11	121	
	Hospitals & Institution				0		-	+
	A Guide to Local Servic		-		9	-		+
	Convention Guidelines	0			0		_	-
	Literature Committee	0	-		0	1	0	+
	Group Treasurer's Boo	-	+		5		-	+
	An Introductory Guide	77			77		+	+
	Twelve Concepts for N				107	2.25	-	+
	NA White Booklet, Nev	<del></del>	-	5	+	+	-	+
	The Group Booklet	59	-	, ,	59	+		+
	Working Step Four in N	<del>                                     </del>	+		8	-	<del>                                     </del>	+

Behind the Walls	84		5	79	1.1	86.9	5.5
In Times of Illness	100			100	3.6	360	0
Disruptive Behavior	80			80	0.27	21.6	0
NA Grps & Meds	0			0	0.36	0	0
Social Media & Principl	60			60	0.36	21.6	0
Na A Resource	0			0	0.45	0	0
Key Tags						0	
Welcome	59	91	58	92	0.6	55.2	34.8
Thirty Days	87	40	90	37	0.6	22.2	54
Sixty Days	6	70	35	41	0.6	24.6	21
Ninety Days	38	50	31	57	0.6	34.2	18.6
Six Months	77		59	18	0.6	10.8	35.4
Nine Months	44	40	8	76	0.6	45.6	4.8
One Year	45	35	15	65	0.6	39	9
Eighteen Months	230		15	215	0.6	129	9
Multiple Years	54	35	19	70	0.6	42	11.4
Medallions						0	
Bronze	66		4	62	3.6	223.2	14.4
Bi-plated	26			26	17.6	457.6	0
Tripple-plated	1			1	26.85	26.85	0
treasure pad	10		4	6	0.9	5.4	3.6
						0	
						0	
Other Items Special Or	ders			·		0	
Set of Group Readings	9		0	9	7.3	65.7	0
Basic Text Book Cover	7			7	5.25	36.75	0
JFT Journal	0			0	15.25	0	0
Medallion Holder	0			0	9	0	0
Serenity Prayer Talking	0			0	10.5	0	0
			İ			0	
NA Meeting Schedules	390		130	260	0.3	78	39
NA Basic Text	11	29	13	27	13.35	360.45	173.55
It Works - How & Why	22		3	19	10	190	30
Just For Today - Daily N	2	10	2	10	10	100	20
The NA Step Working G	0	10	1	9	10	90	10
Living Clean	5	5	2	8	10.75	86	21.5
Guiding Principles	4		3	1	12.25	12.25	36.75
Sponsorship Book	5		2	3	9.25	27.75	18.5
Special Order Items	0			0		0	0
Book Cover	7			7	15	105	0
Miracles Happen	0			0	33.5	0	0
Gift Edition Just For Too				1	19	19	0
Gift Edition Basic Text	0			0	30	0	0
0						4135.81	624.53
	SCHEDULES	SOLD			CHECKS TO	AREA	

	LAKE ERIE GENERAL SERVICE (LE	(30)					
	LITERATURE INVENTORY						
	DATE: feb/mar						
		Beginning	NAWS	Monthly	Ending	Unit	Cash
	Informational Pamplet	balance	order	sales	balance	Price	Value
	Who, What, How & Why				0	-	(
	The Group				0	-	(
	Another Look				0	+	(
	Recovery & Relapse				0	+	(
-	Am I An Addict?				0	0.27	(
	Just For Today				0	0.27	(
	Living The Program				0	0.27	(
	Sponsorship				0	0.27	(
12	Triangle of Self-Obsession				0	0.27	(
	Youth In Recovery				0	0.27	(
	One Addict's Experience				0	0.27	(
15	PI And The NA Member				0	0.27	(
16	For the Newcomer				0	0.27	(
17	For Those In Treatment				0	0.36	C
19	Self-Acceptance				0	0.27	C
20	H & I and the NA Member				0	0.27	C
21	The Loner - Staying Clean				0	0.36	C
22	Welcome to Narcotics Anonymo	ous			0	0.27	C
23	Staying Clean on the Outside				0	0.27	C
24	Hey! What's the Basket For?				0	0.61	C
24	Money Matters				0	0.61	C
25	Self-Support				0	0.61	C
26	Accessibility				0	0.27	C
27	Parents/Guardians young peopl	e			0	0.36	C
	Funding NA Services				0	<u> </u>	C
	An Intro to NA Meetings				0		C
	Booklets/Handbooks				0		
	PR Handbook	118			0	-	C
	Hospitals & Institutions w/Audi	о Таре			0		C
	A Guide to Local Service in NA	•			0	1	C
	Convention Guidelines				0		C
	Literature Committee				0		C
	Group Treasurer's Book				0		C
	An Introductory Guide to NA				0		C
	Twelve Concepts for NA Service				0		C
	NA White Booklet, Newly Revise				0		0
	The Group Booklet		77.000		0		
	Working Step Four in NA				0	-	0
-	Behind the Walls				0		U

In Times of Illness		0	3.6	0
Disruptive Behavior		0	0.27	0
NA Grps & Meds		0	0.36	0
Social Media & Principles		0	0.36	0
Na A Resource		0	0.45	0
Key Tags				
Welcome		0	0.6	0
Thirty Days		0	0.6	0
Sixty Days		0	0.6	0
Ninety Days		0	0.6	0
Six Months		0	0.6	0
Nine Months		0	0.6	0
One Year		0	0.6	0
Eighteen Months		0	0.6	0
Multiple Years		0	0.6	0
Medallions				
Bronze		0	3.6	0
Bi-plated		0	17.6	0
Tripple-plated		0	26.85	0
Other Items Special Orders				
Set of Group Readings	•	0	7.3	0
Basic Text Book Cover		0	5.25	0
JFT Journal		0	15.25	0
Medallion Holder		0	9	0
Serenity Prayer Talking Key	Chain	0	10.5	0
Seremey Frayer Faiking Key	Citati		20.5	
NA Meeting Schedules		0	0.3	0
NA Basic Text		0	13.35	0
It Works - How & Why		0	10	0
Just For Today - Daily Med	itaiton	0	10	0
The NA Step Working Guid		0	10	0
Living Clean		0	10.75	C
Guiding Principles		0	12.25	C
Sponsorship Book		0	9.25	C
Special Order Items				C
Book Cover		0	15	C
Miracles Happen		0	33.5	C
Gift Edition Just For Today		0	19	C
Gift Edition Basic Text		0	30	C
Grand Total				
	SCHEDULES SOLD		CHECKS TO	AREA

SUBCOMMITTEE REPORT	
SUBCOMMITTEE NAME: Activities	
Meeting opened with a moment of silence followed by	Thol
2-11/11/1-00 01/1+1/- 10/11/11/11/11	Jimmy,
	Tesq /
monies collected for Lence by Michelle B. (treasure) Monie	Suggess."
C.D.'s Titerature, and merchandise sells was collected by M	1 1 4
*Not discussed in this report A profit of \$1,006.81 was made	te
from Kitchen (tood) sales \$1192.00, 50/50 rattle \$208.00, Bever \$194.40. Totaling: \$1594.40 dres Legs provided chair wi	ages
# 194.40. Totaling: #1594.40 avea Legs provided chair wi # 587.59 for Speaker Jam. (Breakdown attatched)	<u>tn</u>
	Doversemb
Jatos discussed are available. Sat. 6129, June 22rd, Aug 10th, Aug 17	th Sun 6/30.
Available dates will be discussed at next sub.	
	<u>t</u>
15.00at the door. We will have 3 speakers sharing on topics, a 50/50 rattle, and menu will include: 3 pa	
becon turkey says ere eggs coffee. Osking for don	ations
et juice. Irace h. Will be pricing selected tri	uto
Opened dates for Saturday are available for August Sept. Odt. Nov. Dec. Tracie L. will bring dates to	
sub-comm. Mtg. Members will bring selected solers to	
hat Tracie L. contacted Marvin from (WACS) area he will with her, she will contact Sara also from (GLASNA) Bo	get back
to read the last the	
Submitted by: What Clativities V. Ch	air Co
Date: 4   4   19	

SUBCOMMITTEE RECEIPTS REPORT FORM

SUDCULTURE	and the state of t
SUBCOMMITTEE NAME: Activitie	es Speaker Jam Breakdown
AMOUNT RECEIVED \$587.59	CHECK #

	ITEMS	RECEIPT	AMOUNT OF	BALANCE
DATE OF PURCHASE	ITEMS PURCHASED	NUMBER	PURCHASE	FORWARDED
23 19	Coffee, Cream, sugar, p-towels, containers, utions is, not king Aprons		H 70.56	
seuns 3/22/19 Dalmant	Buns		# 22.62	
3 22 19	Hot Dogs, Oil, Seasonings		\$136.73	
Daves 3/23/19	Flour		# 698	236.89
	HALL		#375.00	= #611.89
				- 24.30 # 587 .5
Donation 3/22/19 Coordons				
Donation of #24.3	0			

κ.	Receipts must be numbered #1, #2, #3 etc. (Please write number on receipt and this form)  Please give brief description on items purchased, i.e. one (1) color ink cannidge, two (2) notation (1) tity (30) copies stee
×	Please give brief description on tiems purchased, i.e. one (1) cook his standard
9	Please give brief description on items purchased, i.e. one (1) color ink carridge, two (2) non-book trity (30) copies etc.  Attach receipts to form  SUBMITTED BY  LOCAL V. Chair

ATTECHMENTS I	FETTIMES TORS	4FD (5)
---------------	---------------	---------

SUBCOMMITTEE NAME SUBCOMMITTEE ATTENDANCE GSR/MEMBER NAME

#### **POLICY SUBCOMMITTEE REPORT**

May 12, 2019

Meeting opened with a moment of silence and the Serenity Prayer.

The Twelve Traditions were read by Gerald P - The Twelve Concepts were read by Ron B

We observed a one-minute application of the Eleventh Step.

Subcommittee Purpose and Guidelines were read by Beverly M.

Subcommittee minutes were read and accepted

#### **Old Business:**

GSR Package-we have completed working on the packet and the updates will be typed for a final review next month. Area Inventory Tool: was discussed and tabled until the next subcommittee meeting.

Ad-Hoc Report- Area guidelines review. We meet every Wednesday at the Cleveland Heights Library to review and update Area guidelines. We have just completed most of the guidelines for H&I. and these guidelines will be sent to Policy for a final review to assure they adhere to the 12 Traditions, 12 Concepts and procedures. Next month we will submit the H&I's Do's and Don'ts List and that will complete the H&I committee guidelines review and update. If you would like to serve on this Ad-Hoc committee, please let Policy know so we can add your number to our weekly meeting notification.

New Business: WE DISCUSS ED AUDIT OF TREASURED AND DECIDED TO ASK TREASURED. TO COME DIE HOUR GARLY ATTHE TULY 21 ST AREA MEETING. TO 1. Policy received the guidelines for H&I from the Ad-Hoc committee, they include guidelines STARIA AUDIT for committee trusted servants, H&I committee guidelines and H&I topic list. Policy reviewed these guidelines and found they are in accordance with our Tradition, Concepts and procedures and will be adopted as the new guidelines for H&I. They will be given to the H&I chair to replace and supersede the current guidelines. These guidelines include a new term period for the Facility Chair. The new term will be six (6) months instead of one (1) year.

- 2. Policy has a motion. Regarding Literature Vice Chair Area meeting attendance
- 3. GSR Overview What is an AD-Hoc committee.

Attendance Sheet attached

Humbly Submitted: Policy Subcommittee

SUBCOMMITTEE NAME / Way



SUBCOMMITTE	EATTENDANCE
NAME	GSR/MEMBER
- hour O/M	Voley CA
Frank M	Member
11405	MemBer
0 0	GSR
150 M 10	4/12
Fen N	POCOVERY By The MAJINS
Ceraldo	ASL Vice Cham
M	Member PR Chair
Marvin 14.	7000 17
1 <del>10</del> 17	

#### SUBCOMMITTEE REPORT

SUBCOMMITTEE NAME: Merchandise 5/12/2019

Meeting opened with a moment of silence followed by the Serenity Prayer. The Twelve (12) Traditions and the Twelve (12) Concepts were read. We observed a one (1) minute application of the Eleventh Step.

Subcommittee guidelines were read.

#### Old Business:

Minutes from April 2019 were read. We discussed the T Shirts for the upcoming NA Birthday celebration. A theme and shirt color was selected.

We discussed discontinuing the sale of raffle tickets to purchase T Shirts for the NA Birthday celebration and focused on purchasing said T Shirts. The committee agreed that the cut-off date for raffle ticket sales is today.

New Business: We discussed and decided on the T-Shirt color as well as the logo. We decided to purchase 72 T-Shirts, blue w/white lettering/logo. Merchandise Subcommittee is requesting \$570.96 for T-Shirt purchase and \$100.00 for the Gift Basket. Our total requested amount is \$670.96.

I request to be recognized under new business to request stated funds.

#### Attachments:

(1) Attendance sheet

Submitted by: <u>Area Vice-Chair</u>

Date: <u>5/19/2019</u>

Attendance Sign-In Subcommittees

Subcommittee Name	MERCHANDISE	DATE	5/12/2019
	NAME		GSR/MEMBER
Gerald P.		GSR	
Ken D.		GSR	
Ron B.		GSR	
Ruby K.		Member	
Bill S.		GSR	
,			

#### SUBCOMMITTEE REPORT

#### **PUBLIC RELATIONS SUB COMMITTEE**

May 12, 2019

Meeting opened with a moment of silence followed by serenity prayer

- 12 Traditions
- 12 Concepts:
- 11th Step Application 1 minute

Subcommittee purpose & guidelines:

Previous months minutes report read and accepted.

#### **OLD BUSINESS:**

- 1) Contact no longer at 131 Street and Miles building
- 2) Flyer for poster day is in the minutes

#### **NEW BUSINESS:**

1) Continuing to look for community events where we can pass out NA literature

Motion to close: All for, None against.

Meeting Closed with a moment of silence and the serenity prayer.

May 12, 2019



SUBCOMMITTEE NAME Public Relations

SUBCOMMITTEE ATTENDANCE

SUBCOMMITTE	EATTENDANCE
NAME	GSR/MEMBER
Marvin M.	Chairgerson ASC Vice Chair
Columbus W	100 Viz Chi
walt Mc	
Beurs Mr.	Member
Tuby OK	111 CMDEC



	Date:
	LETTER OF RESIGNATION
Position Resigning:	
1 00101011 110015111151	
-	
5	Submitted by:



# **GROUP REPORT**

NAME:	
Submitted By:	
Date:	

	GROUP/SUBCOMMITTEE MOTION WITH EXPLANATION:
A	
BACK	K TO GROUPS SUBCOMMITTEE:
MOTION B	Y:2 <sup>ND</sup> BY:
For:	AGAINST: ABSTENTIONS: RESULTS:
AREA SERV	VICE COMMITTEE VOTE TALLY:
Fon. A	CAINET, ADETENTIONE, DECKITE,

0	
0	<u>D</u> .

## SUBCOMMITTEE REPORT

NAME:		
· · · · · · · · · · · · · · · · · · ·		199
1.000		
	<b>Date:</b>	

# [AREA L.E.G.S. [LAKE ERIE GENERAL SERVICES®] RECEIPTS REPORT

#### **GROUP/SUBCOMMITTEE NAME:**

OUNT OF CHECK \$ CHECK #			***************************************	
DATE OF PURCHASE	ITEMS PURCHASED	RECEIPT NUMBER	AMOUNT OF PURCHASE	BALANCE FORWARDED
				****

- RECEIPTS MUST BE NUMBERED #1, #2, #3 ETC. (PLEASE WRITE NUMBER ON RECEIPT AND THIS FORM)
- PLEASE GIVE BRIEF DESCRIPTION ON ITEMS PURCHASED; [EX.] ONE (1) COLOR INK CARTRIDGE, TWO (2) NOTEBOOKS, FIFTY (50) COPIES, ETC.
- ATTACH RECEIPTS TO FORM

DATE FORM	& RECEIPTS TURNED IN:	 
SUBMITTED BY:		

C	1

SUBCOMMITTEE NAME	
- 20 DCCIMIMELLER NAME	

#### SUBCOMMITTEE ATTENDANCE

N N	IAME	GSR/MEMBER
e 41 (4)		
	4 N 10 F	
1111		* · · · · · · · · · · · · · · · · · · ·
		e e
~		
···		
	π	

	MADE ON THE ASC FLOOR MOTION WITH EXPLANATION
San and an	
ATT	
BACK	TO GROUPS SUBCOMMITTEE:
MOTION BY	2 <sup>ND</sup> BY:
FOR:	AGAINST: ABSTENTIONS: RESULTS:
AREA SERV	ICE COMMITTEE VOTE TALLY:
For: Ac	GAINST: ABSTENTIONS: RESULTS:

# YOU MUST HAVE AT LEAST SIX (6) MONTHS CLEAN TO SHARE AT A H&I MEETING



### **H& I SPEAKER SIGN-UP**

The purpose of an H&I meeting/presentation is to carry the message of recovery to the addicts who do not have full access to a regular Narcotics Anonymous meeting. H&I meetings/presentations, except those in longer term facilities are simply intended to introduce those attending to recovery through the program of Narcotics Anonymous.

### Please Do Not insert "ANY" for time/days. Be specific!

First Name & Last Initial	Clean Date	Phone Number	Specific Days	Specific Time
A ALOV I (MINO OF LIMBO AND	Civili Ditto	Z ALGIEC I TAMANUI	Decimo 234y5	2000
			-	
			:	
d.				



# A SIMPLE WAY GROUP OF N.A.

Thursdays at 10:00 a.m.
15309 Harvard Ave
(Evangelical Lutheran Church)

IS CURRENTLY IN NEED OF THE FOLLOWING TRUSTED SERVANTS

**SECRETARY** 

**TREASURER** 

**GSR** 

**GSR-ALTERNATE** 

Posted 5/16/2019

approved 5.19 19:01

# CIACNA XVI

-	
5	
E	
ō	
0	
100	
O	
-	
E	
E	
0	
a.	
W	
adse	
4	
4	
0	
-	
5	
Ε	
៑	
IL.	
-	
7	
₽	
=	
5	
-	
.55	
O	
0	
~	

ame

	State
Address	Zihy

Email

Registration x \$20 =

Banquet Dinner x \$35 =

New Comer Donation =

Total =

Full Registration recipients will receive a special convention related gift \*\*(full registration consists of, one registration and one banquet

When registration form is completed, tear down the black dashed lines on inside of packet and: Mail Completed Registration Form With Check or Money Order to:

CIACNA XVI PO BOX 441716 Indianapolis, IN 46244

# Online Registration

https://centralindianana.org/resourcesnarcotics-anonymous-members/ciacna/

Drepressen

# CIACNA XVI

Unity Is a Must October 11 - 13, 2019



Indianapolis Marriott East 7202 East 21st Street Indianapolis, IN 46219 1-317-352-1231



3290 E126TH OFF
LUKE DOORS OPEN
AT 9:30 MEETING
STARTS AT 10:30
NO ADDICT TURNED
AWAY

ATTENTION, ATTENTION, ATTENTION

WAKE UP & LIVE GROUP OF

NARCOTICS ANONYMOUS IS HOSTING

A MEET AND GREET AFFAIR

ON JULY 5, 2019 IN THE SPIRIT OF UNITY

REACHING OUT TO ALL, ESPECIALLY

HOMEGROUP MEMBERS ALL ARE WELCOME

SURPRISE FORMAT FOOD, FUN, FELLOWSHIP

# We Are Reaching New Heights **31**<sup>st</sup> **Anniversary**

When:

July 31, 2019

Doors Open: 6:30pm

Meeting starts: 7:30pm

Where:

Lee Heights

Community Church

4612 Lee Road

Cleveland 44128

Food ~ Fun ~ Fellowship

Approved

2 Person Panel

# NA BIRTHDAY CELEBRATION

**JULY 20, 2019** 

NOON - 6 PM SPEAKERS AT 2 PM

EDGEWATER PARK
UPPER PAVILLION

SPEAKERS FROM EACH AREA

CLEAN TIME COUNTDOWN

RECOVERY BASKET DRAWING

FOOD, FUN, FELLOWSHIP

No food will be served during meeting NO EXCEPTIONS



39 Groups Listed				
4427 Franklin Avenue	St. Paul's Community Church	8:00 PM		OUR PRIMARY PURPOSE ON SATURDAY - OPP
18200 Harvard Avenue	St. Henry's - Rectory	7:00 PM	-	H.O.W. ON SATURDAY NIGHT
12618 Shaw Avenue	Philemon Community Baptist Church	6:00 PM	Saturday	WITH OUR WILLINGNESS - WOW
8201 Superior Avenue	Emmanuel Baptist Church	12:30 PM		PEACE IN THE VALLEY
2511 E. 46 <sup>th</sup> Street	Lonnie Burton Center	10:30 AM		FIRST STEP 2 RECOVERY
3484 Martin Luther King Jr. Blvd.	Mt. Haven Baptist Church	8:00 PM		SPIRITUAL FOUNDATIONS
12600 Euclid Avenue	Lakeside Baptist Church	7:30 PM		ST. CLAIR RECOVERY
1380 E. 13 <sup>th</sup> Street	St. Clair Place - CMHA	7:30 PM		INNER CITY RECOVERY
5005 Euclid Avenue	The Salvation Army	7:00 PM	Friday	AGAINST ALL ODDS
1881 E. 71 <sup>st</sup> Street	Second Ebenezer Missionary Baptist Church	6:30 PM		THANK GOD I'M FREE - TGIF
3290 E.126 <sup>th</sup> Street	Mt. Olive Missionary Baptist Church - Annex	10:30 AM		WAKE UP & LIVE
1834 E. 55 <sup>th</sup> Street	North Star Building	10:30 AM		SPIRITUAL AWAKENINGS
13020 Shaw Avenue	Bright Star Baptist Church	9:00 PM		JUST FOR TODAY
10717 East Blvd.	VA Hospital - Room K – 119	7:00 PM		RECOVERY ON 105
12900 Superior Avenue	CMHA - Anthrop Towers - Activity Room	7:00 PM		RECOVERY BY THE RAPID
1834 E. 55 <sup>th</sup> Street	North Star Building	6:30 PM	Thursday	STEP GUIDE DISCUSSION GROUP OF NA
10620 Mountview Avenue	St Andrew's Missionary Baptist Church	6:00 PM		MIRACLES ON MOUNTVIEW - MOM
2511 E. 46 <sup>th</sup> Street	Lonnie Burton Center	10:30 AM		MESSAGE OF HOPE PROMISE OF FREEDOM
15309 Harvard Avenue	Evangelical Advent Church	10:00 AM		A SIMPLE WAY
4612 Lee Road	Lee Heights Community Church	7:30 PM		WE ARE REACHING NEW HEIGHTS
6800 Lexington Avenue	St. Agnes - Our Lady of Fatima	7:30 PM		TOGETHER WE CAN
12201 Euclid Avenue	The Free Clinic Foundation		wednesday	END OF THE ROAD RECOVERY
13655 Euclid Avenue	Stephanie Tubbs-Jones Center - CCF			RAY OF HOPE GROUP
2856 Martin Luther King Jr. Drive	Full Gospel Evangelistic Center	6:00 PM		LAST HOUSE ON THE BLOCK
2511 E. 46 <sup>th</sup> Street	Lonnie Burton Center	10:30 AM		FRONTLINE RECOVERY
5005 Euclid Avenue	The Salvation Army	7:00 PM		KEEP IT SIMPLE N.A.
579 Eddy Road	Everlasting Baptist Church	6:30 PM	Luesday	EAST CLEVELAND RECOVERY
3940 Martin Luther King Jr. Blvd.	Bethany Christian Church	6:00 PM		PURE N.A. GROUP
1834 E. 55 <sup>th</sup> Street	North Star Building	10:30 AM		THE JOURNEY CONTINUES
415 Northfield Road	United Church of Christ	7:30 PM		BEDFORD MIRACLES
14735 Thames Avenue	Greater Bethel AME Church	7:00 PM		THERE'S A WAY OUT
2780 Noble Road	Noble Road Presbyterian Church	7:00 PM	Monday	NEW ATTITUDES
3474 E. 147 <sup>th</sup> Street	New Sardis Primitive Baptist Church - Basement	6:30 PM	Mondon	KEEP COMING BACK
1834 E. 55 <sup>th</sup> Street	North Star Building	6:00 PM		NO MATTER WHAT
2511 E. 46 <sup>th</sup> Street	Lonnie Burton Center	10:30 AM		WE ON MONDAY MORNINGS
775 E.152 <sup>nd</sup> Street	Veteran's Outreach of America	7:00 PM		WINNERS GROWING TOGETHER IN RECOVERY
4612 Lee Road	Lee Heights Community Church	7:00 PM	Sunday	HAPPY JOYOUS & FREE
13512 Kinsman Avenue	Masonic Temple Prince Hall	11:00 AM		MORE WILL BE REVEALED ON SUNDAY
775 E.152 <sup>nd</sup> Street	Veteran's Outreach of America	10:30 AM		SERENITY ON SUNDAY MORNING - SOS
ADDRESS	LOCATION/BUILDING	TIME	YAD	GROUP NAME
EETINGS	AREA L.E.G.S. MEETINGS			SCHEDULE OF
	- 1			